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By a widow who became married to a bachelor

OVERVIEW

The X3 explained that when 77"7 said in the name of 27 that an mI?R requires
o°ann no72 (all seven days) that was in a case of M2 NRWIw 77X (but not in a
case of INPR XYW oK), Our Moon explains the difference.
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That since both of them are not widowed (just the woman is a widow; the man is
a M), it is proper to make the 2°1n17 n>92 all seven days.

SUMMARY
If they are both not widowed we make the 2°1nr n>72 all seven days.

THINKING IT OVER
1. What was mooin difficulty that required an explanation?

2. What will be the ruling (regarding 2°1n1 n1272) by an 72102 XYW 729K?
3. How does mooin know that the reason we are 7yaw %3 772n by a  Xww 2

719X, is because they are not both °1%%X, perhaps the reason is because one of
them never received the m2712?°

" This mooin (as well as the previous two moon) references the X% on the '8 Ty,
% In our M 3 the text reads TIPR KWW M2 (not MM NRWIW 7IM9KI).
? See %9971 (on the X,7 Xn3).

TosfosInEnglish.com



